3.2MODBUS-RTU
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F 0x500 float 0.01Hz 0x130 int 0.01Hz
Ua 0x502 float 0.1V 0x131 int 0.1V
Ub 0x504 float 0.1V 0x132 int 0.1V
Uc 0x506 float 0.1V 0x133 int 0.1V
Uvavg | 0x508 float 0.1V 0x134 int 0.1V
Uab 0X50A float 0.1V 0x135 int 0.1V
Ubc 0Xx50C float 0.1V 0x136 int 0.1V
Uca OX50E float 0.1V 0x137 int 0.1V
Ulavg | 0x510 float 0.1V 0x138 int 0.1V
la 0x512 float 0.001A 0x139 int 0.001A
1b 0x514 float 0.001A Ox13A int 0.001A
Ic 0x516 float 0.001A 0x13B int 0.001A
In 0x518 float 0.001A 0x13C int 0.001A
lavg | Ox51A float 0.001A 0x13D int 0.001A
Pa 0x51C float W Ox13E int W

Pb OX51E float W 0x13F int W

Pc 0x520 float W 0x140 int W

P 0x522 float W 0x141 int W
Qa 0x524 float Var 0x142 int Var
Qb 0x526 float Var 0x143 int var
Qc 0x528 float Var 0x144 int var

Q 0X52A float Var 0x145 int Var
Sa 0x52C float VA 0x146 int VA
Sb 0X52E float VA 0x147 int VA
Sc 0x530 float VA 0x148 int VA

S 0x532 float VA 0x149 | int A
pfa 0x534 float 0.001 0x14A int 0.001
pfb 0x536 float 0.001 0x14B int 0.001
pfc 0x538 float | 0.001 0x14C int 0.001
pf 0X53A float 0.001 0x14D int 0.001
Ep 0x156 float Kih 0x156 long 0. 1kih |
Eq 0x158 float kvarh 0x158 long 0.1kvarh |
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3.1 MODBUS-RTU
1BYTE 1BYTE 2BYTE 2BYTE CRCH CRCL
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